
C.L. OF POINT LOAD

PANEL POINT C.L.

MORE THAN 2"

MORE THAN 2"

C.L. OF POINT LOAD

PANEL POINT C.L.

L2 1/2x2 1/2 x 1/4 BRACE
EACH SIDE OF JOIST

L2 1/2x2 1/2 x 1/4 BRACE
EACH SIDE OF JOIST

BAR JOIST

3/16
EACH END

3/16
EACH END

NOTES:

1. JOIST REINFORCEMENT
REQUIRED WHEN POINT
LOAD EXCEEDS 150 LBS. AT
TOP CHORD AND 50LBS.
AT BOTTOM CHORD.

2. BENEATH MECHANICAL CURBS
PROVIDE JOIST REINF AT JOIST
PANEL JOINTS. WHEN CURBS
ARE OFFSET FROM PANEL BY
MORE 2" REINFORCE JOIST AS
SHOWN IN THIS DETAIL.

REINFORCING BAR

POLYURETHANE FOAM
BACKER ROD

POLYURETHANE SEALANT

NOTE: TYPICAL DETAIL
BOTH SIDE OF WALL

3/8"  MAX.

1
/2
"

1/8 TIMES THE
THICKNESS OF WALL

STEEL BEAM,
SEE PLAN

ROOF DECK SHOWN
SEE PLAN FOR DECKING
AT FLOOR LEVELS

ANGLE BRIDGING

JOIST, SEE PLAN

ANGLE BRIDGING
(BOTTOM CHORD)

TYPICAL AT HORIZONTAL TOP AND BOTTOM CHORD BRIDGING
AND UPLIFT BRIDGING LOCATIONS

NOTE: WELD BRIDGING
TO BEAM FLANGE AND/OR
WEB AS REQUIRED

COL

COLUMN, SEE
PLAN

BASE PLATE: WIDTH = BEAM FLANGE,
LENGTH = COLUMN WIDTH PLUS 3",
1/2" THICK WITH (4) 3/4" DIA. BOLTS

WEB STIFFENER EACH SIDE,
TYP IN BEAM SUPPORTING
COLUMN ABOVE - SEE DET
C7/S-003

BEAM, SEE
PLAN

4"

"L
"

"D
"

2 1/2"1/4" CAP
PLATE

"N"
PLATE THICKNESS
"T"

COLUMN, SEE
PLAN

BEAM, SEE
PLAN

BEAM N L T D S

W8 2 6" 1/4" 1" 3"

W14 4 11 1/2" 3/8" 1 1/2" 3"

W10 2 6" 1/4" 1 1/2" 3"

W12 3 9" 1/4" 1 1/2" 3"

W21 6 18" 3/8" 1 1/2" 3"

W18 5 15" 3/8" 1 1/2" 3"

W16 4 12" 3/8" 1 1/2" 3"

W24 7 20 1/2" 3/8" 1 1/2" 3"

NOTES:

1. BOLTS SHALL BE 3/4" DIA. A325N (U.N.O.)

2. N = NUMBER OF BOLTS

3. L = LENGTH OF PLATE

4. T = THICKNESS OF PLATE

5. D = DEPTH OF PLATE FROM TOP FLANGE
OF BEAM

6. S = BOLT SPACING

CONNECTION SCHEDULE

"S
"

"S
"

"S
"

7. SIMILAR AT CHANNEL SECTIONS OF
SAME DEPTH

"L
"

"D
"

"N"
PLATE THICKNESS
"T"

BEAM, SEE
PLAN

BEAM, SEE
PLAN

"S
"

"S
"

BEAM-TO-COLUMN DETAIL

BEAM-TO-BEAM DETAIL

CAPACITY
(KIP)

16.3

42.4

16.3

25.6

63.6

53.0

42.4

74.2

SEE PLAN

1/4" WIDE (MAX.) BY ONE-QUARTER
OF THE SLAB THICKNESS SAWED

JOINT (STRAIGHT AND TRUE) JOINT FILLER, SEE
SPECS

VAPOR BARRIER

6
'-
0
" 
M
A
X

7'-0" MAX

8'-0" MAX

FOR SPANS 0' THRU 3' USE: L4x4x3/8 (TYP)
FOR SPANS 3' THRU 8' USE: C6x8.2 (TYP)

L5x5x5/16 (TYP)

DECK OPENING AS REQUIRED.
CONTRACTOR SHALL COORD
OPENINGS, DIMENSIONS AND
LOCATIONS w/SPECIFICATIONS
AND APPLICABLE CONTRACT
DOCUMENTS.

C.L. JOISTC.L. JOIST

3/16
TYP

3/16

TYP AT
SUPPORTS

NOTES:

1. 1, 2, 3, OR 4 SIDED FRAMES
MAY BE USED AS REQUIRED.
ALSO, LOOSE INTERIOR
MEMBERS MAY BE USED FOR
ADDED ADJUSTMENT.

2. FRAME NOT REQUIRED FOR
ROUND OPENINGS LESS
THAN 12-INCHES IN DIA.

- 
S
E
E
 P
L
A
N

V
A
R
IE
S

SEE PLAN FOR SIZE AND REINFORCING

SEE PLAN

VAPOR BARRIER

BITUMINOUS COATING OVER ALL
STEEL BELOW SLAB LEVEL

CONCRETE SLAB-ON-GRADE
SEE PLAN FOR ELEVATION

24" DIAMOND, PROVIDE 1/2"
ISOLATION JOINT w/SEALANT

TYPICAL UNLESS NOTED

STEEL COLUMN, SEE PLAN

BASE PLATE (SEE PLAN) ON 1/4"
LEVELING PLATE ON 3/4" NON-
SHRINK GROUT - APPLIES TO
COLUMNS AT PIER LOCATIONS
ALSO (U.N.O.)

F-1554 STRAIGHT ANCHOR BOLTS
w/NUT AT BASE (TACK WELDED) -
APPLIES TO COLUMNS AT PIER
LOCATIONS ALSO (U.N.O.)
REFER TO BASE PLATE TYPES
(D1/SB-200)

COL

DETAIL - A

STEPPED FTG,
SEE DETAIL
D6/S-003

AT PIPE PENETRATIONS
THROUGH FOUNDATION WALLS,

USE METAL OR CONCRETE
SLEEVE WITH COMPATIBLE

MATERIAL

M
IN6
"

MIN

6"

A

CONDITION - 2:

WHERE PIPE ELEVATION
IS AT FOOTING TO 24" BELOW,
STEP FOOTING TO CLEAR
PIPE (SEE DETAIL-A) FOR
STEPPED FTG (SEE
DETAIL D6/S-003)

CONDITION - 3:

WHERE PIPE ELEVATION IS
24" MIN. BELOW FOOTING - NO
ACTION REQUIRED. OTHERWISE,
STEP FOOTING AS REQUIRED TO
CLEAR PIPE (SEE CONDITION-2)

CONDITION - 1:

WHERE PIPE ELEVATION
IS ABOVE FOOTING, SLEEVE
PIPE THROUGH WALL - USE

METAL OR CONCRETE
SLEEVE WITH COMPATIBLE

MATERIAL

NOTE: BACKFILL AND
COMPACT DITCH TO 95%

2
4
" 
 M
IN
.

MIN

6"

HORIZONTAL WALL
REINFORCING

FOOTING REINFORCING

"T
"

1
'-
6
" 
M
A
X

"A
"

1.5 x "A"

36 BAR DIA.

36 BAR DIA.

36 BAR DIA.24"  MIN

2
4
" 
M
A
X
.

36 BAR DIA.

"T
"

3"  C
LR
.

2
" C

L
R
.

BAR SHALL MATCH HORIZONTAL
WALL REINFORCING

HORIZONTAL WALL
REINFORCING

FOOTING REINFORCING

BAR SHALL MATCH FTG
REINF

"T" = FOOTING THICKNESS

COL

1/2"  MIN. GAP

1 1/2" TYP.3" TYP.

2 1/2"

(2)3/4" DIA. BOLTS, TYP.
(SEE NOTE#3)

6" x 1/2" x 0'-6" STABILZER
PLATE, TYP.

L4x4x3/8 x COLUMN WIDTH x 2
w/(2)3/4" DIA. BOLTS (SEE
NOTE#3)

JOIST, SEE PLAN

1/2" CAP PLATE, TYP.

CONDITION AT TOP
OF COLUMN (U.NO.)

CONDITION WHERE COLUMN
IS CONTINUOUS

NOTES:

1. DO NOT WELD BOTTOM CHORD
TO STABILIZER PLATE.

2. HSS COLUMN SHOWN - FOR WIDE
FLANGE COLUMN USE SAME SIZE
AND LENGTH FILLET WELDS,
APPLY TO EACH FLANGE

5/16

5/16
TYP.

3. PROVIDE 1/2"DIA BOLTS AT 'K'-SERIES
JOISTS

AT SLAB

AT WALL

NOTE: SEE SITE SPECS
FOR BACKFILL MATERIAL

SEE PLAN

SMOOTH BARS, SEE SPECS

BREAK REINFORCEMENT
AT JOINT

SCREED KEY JOINT WITH
REMOVABLE PLASTIC CAP
STRIP - FILL JOINT (SEE
SPECS)

#6 SMOOTH BAR, 12" LONG
AT 18"O.C. GREASE OR
WRAP - ONE END ONLY

KEYWAY LENGTH AND WIDTH
SHALL BE ONE-THIRD WALL
THICKNESS

DISCONTINUE EVERY OTHER
LINE OF REINFORCING AT

JOINT LOCATION (ALTERNATE
SIDES)

S
E
E
 P
L
A
N

PROVIDE WEB STIFFENERS ON BEAMS BEARING
ON COLUMNS AND BEAMS SUPPORTING COLUMNS.
USE 1/4" PLATE FOR BEAMS UP THRU 12" DEEP,
5/16" PLATE FOR BEAM 14" TO 18" DEEP, 3/8"
PLATE FOR BEAMS OVER 18" DEEP.

TYP TOP AND
BOTTOM
FLANGE, EACH
SIDE OF WEB

2"

2"
TYP

TOP,BOTTOM
AND

CENTER

GRID (2)3/4"Ø BOLTS (TYP)
SEE NOTE#2

NOTES:

1. DO NOT WELD ANGLES
TO STABILIZER PLATE.

2. PROVIDE 1/2"DIA BOLTS AT 'K'-SERIES
JOISTS

BEAM - SEE PLAN

6" x 1/2" x 0'-6"
STABILIZER PL (TYP)

(2)L2x2x1/4 - (SEE NOTE#1)

3" MIN.

FULL
AVAILABLE

EXTENT

A
l l
ie
d
 E
n
g
in
ee
ri
n
g

S
tr
u
ct
u
ra
l 
 M

ec
h
a
n
ic
a
l 
  
E
le
ct
ri
ca
l 
 C
o
m
m
is
si
o
n
in
g

1
6
0
 V
er
a
n
d
a
 S
tr
ee
t

P
o
rt
l a
n
d
, 
M
a
in
e  
0
4
1
0
3

T
:
2
0
7
.2
2
1
.2
2
6
0

F
:
2
0
7
.2
2
1
.2
2
6
6

W
eb
:
w
w
w
.a
ll
ie
d
-e
n
g
.c
o
m

D
a
te
:

D
ra
w
n
 B
y
:

C
h
e
c
k
e
d
 B
y
:

P
ro
je
c
t 
M
g
r:

P
ro
je
c
t 
N
o
:

C
a
d
 F
ile
:

10987654321

10987654321

A

B

C

D

E

F

G

A

B

C

D

E

F

G

C
O
P
Y
R
IG
H
T
 2
0
1
5
 A
L
LI
E
D
 E
N
G
IN
E
E
R
IN
G
, I
N
C
.

C

G
ra
p
h
ic

S
c
a
le
:

1
"

0
"

N
  
 O
  
 R
  
 T
  
 H
  
 E
  
 A
  
 S
  
 T
  
  
  
 A
  
 I
  
 R

P
O
R
T
L
A
N
D
 I
N
T
E
R
N
A
T
IO
N
A
L
 J
E
T
P
O
R
T

1
0
1
1
  
W
E
S
T
B
R
O
O
K
 S
T
R
E
E
T

P
O
R
T
L
A
N
D
, 
M
A
IN
E
 0
4
1
0
2

1
5
0
2
8

W
P
F

T
G
RA

N
T 
HA

YS
 A
SS
O
C
IA
TE

S
A
RC

HI
TE

C
TU
RE

 &
 IN
TE

RI
O
R 
D
E
SI
G
N

P.
O
.B
O
X
 6
17
9 
FA
LM

O
UT
H 
M
AI
N
E
 0
41
05

20
7.
87
1.5
90
0
 w
ww
.g
ra
nt
ha
ys
.c
o
m

N
:\
P
ro
je
c
ts
\2
0
1
5
\1
5
0
2
8
 ~
 N
o
rt
h
e
a
s
t 
A
ir
 T
e
rm

in
a
l 
B
u
ild
in
g
\0
0
 D
ra
w
in
g
 F
ile
s
 v
2
0
1
5
\1
5
0
2
8
S
.r
v
t

0
1
-2
7
-2
0
1
6

S-003

P
E
D J
P
M

S
T
R
U
C
T
U
R
A
L
 -
 T
Y
P
IC
A
L
 D
E
T
A
IL
S

1
5
0
2
8
S
.r
v
t

A8 TRUSS FIELD MOD. FOR POINT LOAD

C5 TYPICAL BRIDGING TERMINATION AT BEAM C9 TYPICAL COLUMN ABOVE DETAIL

A1 TYPICAL CONNECTION DETAIL

G9 TYPICAL CONTROL JOINT IN SLAB DETAIL

A5 TYPICAL FRAMED OPENING IN ROOF DECK

F1 TYPICAL INTERIOR SPREAD FOOTING DETAIL

D8 TYPICAL PIPE AT FOOTING DETAILD6 TYPICAL STEPPED FOOTING DETAIL

D1 TYPICAL TIE-JOIST TO COLUMN DETAIL

F4 TYPICAL WALL AND SLAB CONSTRUCTION JOINT DETAIL

C7 TYPICAL WEB STIFFENER DETAIL

D3 TYPICAL TIE-JOIST TO BEAM DETAIL


	Sheets
	S-000 - STRUCTURAL - NOTES
	S-001 - STRUCTURAL - NOTES
	S-002 - STRUCTURAL - ROOF LOADING PLAN
	S-003 - STRUCTURAL - TYPICAL DETAILS
	SB-100 - STRUCTURAL - FOUNDATION PLAN
	SB-200 - STRUCTURAL - BASE PLATE TYPES AND ENLARGED PLAN VIEWS
	SB-500 - STRUCTURAL - FOUNDATION DETAILS
	SD-100 - STRUCTURAL - DEMOLITION PLAN
	SF-100 - STRUCTURAL - SECOND FLOOR LEVEL FRAMING PLAN
	SF-101 - STRUCTURAL - GIRT FRAMING LAYOUT PLAN
	SF-102 - STRUCTURAL - ROOF FRAMING PLAN
	SF-200 - STRUCTURAL - ROD CROSS BRACING ELEVATIONS AND DETAILS
	SF-500 - STRUCTURAL - DETAILS
	SF-501 - STRUCTURAL - DETAILS
	SF-502 - STRUCTURAL - DETAILS


